



Weaned Graded Feeder Calf Sale Thursday, August 4, 2022 at 6:00 pm



Stanly County Livestock Market, Norwood, NC

Terms & Conditions of Sale:

- 1. Calves will be sold in uniform groups according to breed, grade, sex, and weight and may be purchased by the pen or pen split. Buyers may split a pen if the total pen count is over 20 head. Buyer may take any head count of 10 or more from the pen provided not less than ten are left in the pen after the cut.
- 2. Auctioneer will settle all disputed bids.
- 3. All cattle belong to producer until sold; then they immediately become the property of the buyer. Hay and water are available to cattle prior to sale and for 24 hours after the sale at no additional expense. A charge of \$1 per head per day will be added for all cattle not moved from the barn after the first 24 hours following the sale.
- 4. All buyers must establish identification with livestock market operator prior to sale.
- 5. Terms of sale are CASH. Settle with staff in office immediately after the sale.
- 6. Cattle must be settled for before being loaded. Personnel will be available to take care of cattle left in the barn overnight. Feed and water will be furnished during this time.
- 7. Assistance in obtaining transportation can be given if needed.
- 8. Guaranteed open heifers that are found to be bred within 60 days of the sale are eligible for a \$200/head refund. The seller will be charged \$200/head for each bred heifer. Buyers must submit appropriate documentation to the office within 60 days of the sale to receive the credit.
- 9. Any departure from this procedure will be announced from the auction stand. All announcements made from the auction box will take precedence over printed matter herein.

Sale Requirements:

- Steers or heifer calves. No bulls are allowed. Steers must be properly castrated and healed. ٠
- Calves must not have horns either polled or properly dehorned (total or tipped) and healed. ٠
- Producer must submit a completed and signed "Weaned Sale Health Record Form."
- All calves have yellow ear ID tags, no back tags or farm tags. ٠
- Calves are weaned at least 60+ days and two rounds of vaccinations. ٠
 - Two doses of a Respiratory Modified-Live Viral (MLV) vaccine for IBR-BVD-P13-BRSV
 - At least one dose of Mannheimia Haemolytica (Pasteurella); can be given with MLV vaccine
 - o Two doses of a Clostridial/Blackleg vaccine and at least one dose of Haemophilus Somnus
 - At least one round of parasite control with a recognized dewormer
 - Implants are optional
 - Vaccinations must be given between 21 days and 4 months prior to the sale. Final vaccines 0 must be given between 21 days and 60 days prior to the sale.

Grading Descriptions:

Frame and Muscle

- M Medium or Large Frame and #1 or #1.5 muscling
- **T** Medium or Large Frame and #2 muscling
- **S** Small Frame and #1 muscling

Breed Characteristics

- A and AH Black/BWF, Majority Angus influenced
- **EX** Blk/BWF, Red/RWF, Ch-X/Gray. Majority continental influence (no pink nose Charolais or mixed colors)
- SC Pink-nosed Charolais and spotted Simmentals
- **OX** Crossbred cattle with odd or mixed colors
- **BR** Blk/BWF, Red/RWF, Gray. Brangus or Brahman influenced cattle.
- **H** Hereford

Examples: **M5A** – M/L Frame, #1/1.5 muscling, 5-weight steer, Angus-based **T40EX** – M/L Frame, #2 muscling, 4-weight heifer, Continental-based

More sale information at www.norwoodfeedercalf.com

August 4, 2022 Sale Time – 6:00 pm eastern time

Conference Call In Number: Passcode:

Please call any of the numbers below for your buyer number prior to joining the conference call. The sale will be broadcast online at <u>www.norwoodstockyard.com</u> but online bidding is not available.

Office: 704-474-7681 Marcus Harward: 704-322-0840 Brooke Harward: 704-322-9770

STANLY COUNTY LIVESTOCK MARKET

Weaned Graded Feeder Calf Sale - August 4, 2022

704-474-7681 www.NorwoodFeederCalf.com

SALE REQUIREMENTS: Weaned 60+ days, double vaccinated (MLV 2x, Pasteureulla 1x, Blackleg 2x, dewormer), no back tags (ear tags only). Heifers guaranteed open - to receive credit for a bred heifer we must receive documentation within 60 days of the sale.

******STEERS******											
PEN	COLOR	HD	AVG	RANGE	TOTAL WT	PRICE	BUYER				
M4A	BLK/BWF	8	465		3,720	\$184.00					
M4EX	1 CHX	1	470		470	\$176.00					
M4BR		1	430		430	\$161.00					
T4A	BLK/BWF	8	449		3,590	\$185.00					
S4A	BLK/BWF	2	475		950	\$110.00					
M5A/AH	BLK/BWF	86	574		49,335	\$186.50					
M5EX	2 BLK/BWF	3	575		1,725	\$180.00					
M5OX		1	575		575	\$170.00					
T5A	BLK/BWF	3	533		1,600	\$173.00					
T5OX		1	530		530	\$123.00					
S5A	BLK/BWF	3	560		1,680	\$103.00					
M6A/AH	BLK/BWF	96	657		63,090	\$179.25					
M6EX	2 BLK, 1 CHX, 1 RED	4	659		2,635	\$171.00					
M6BR		3	665		1,995	\$160.00					
M6SC		3	640		1,920	\$160.00					
M6OX		1	655		655	\$157.00					
S6A	BLK/BWF	3	607		1,820	\$127.00					
M7A	BLK/BWF	85	740		62,910	\$166.75					
M7EX	2. CHX, 6 RED	8	741		5,930	\$160.00					
M7OX		3	732		2,195	\$152.00					
T7A	BLK/BWF	1	700		700	\$154.00					
S7A	BLK/BWF	1	700		700	\$130.00					
M8A	BLK/BWF	22	831		18,290	\$155.00					
M8EX	1 BLK, 1 RED	2	855		1,710	\$148.00					
S8A	BLK/BWF	1	840		840	\$144.00					
M9A	BLK/BWF	1	905		905	\$148.00					
M9EX	1 BLK	1	905		905	\$148.00					
M10A	BLK/BWF	1	1000		1,000	\$133.00					
		353			232,805						

STANLY COUNTY LIVESTOCK MARKET

Weaned Graded Feeder Calf Sale - August 4, 2022

704-474-7681 www.NorwoodFeederCalf.com

SALE REQUIREMENTS: Weaned 60+ days, double vaccinated (MLV 2x, Pasteureulla 1x, Blackleg 2x, dewormer), no back tags (ear tags only). Heifers guaranteed open - to receive credit for a bred heifer we must receive documentation within 60 days of the sale.

*********HEIFERS******** PEN PRICE COLOR HD AVG RANGE TOTAL WT BUYER \$163.00 M40A **BLK/BWF** 25 459 11,475 445 \$159.00 M40EX 1 445 1 BLK T40A 6 453 2,715 \$160.00 BLK/BWF S40A 3 432 1,295 \$129.00 BLK/BWF \$162.00 M50A 71 555 39,440 **BLK/BWF** 1 \$136.00 M50EX 525 525 1 BLK 2 1,020 \$127.00 M50H 510 \$126.00 M50OX 1 590 590 \$134.00 T50A BLK/BWF 5 542 2,710 \$127.00 T50EX 1 540 540 1 BLK \$141.00 **T50OX** 1 500 500 \$120.00 S50A 6 544 3,265 **BLK/BWF** \$157.00 M60A/AH BLK/BWF 76 652 49,570 622 \$141.00 M60EX 6 3,730 3 CHX, 3 RED 2 \$136.00 M60SC 623 1,245 \$121.00 M60OX 1 680 680 2 \$138.00 T60A **BLK/BWF** 613 1,225 \$137.00 T60BR 2 640 1,280 2 \$105.00 S60A BLK/BWF 660 1,320 \$145.50 M70A BLK/BWF 42 746 31,325 M70OX 3 717 2,150 \$135.00 2 743 \$112.00 S70A 1,485 **BLK/BWF** \$133.00 M80A 8 828 6,620 **BLK/BWF** \$120.00 1 870 M80EX 870 1 RED

166,020

270

STANLY COUNTY LIVESTOCK MARKET

Weaned Graded Feeder Calf Sale - August 4, 2022

704-474-7681 www.NorwoodFeederCalf.com

SALE REQUIREMENTS: Weaned 60+ days, double vaccinated (MLV 2x, Pasteureulla 1x, Blackleg 2x, dewormer), no back tags (ear tags only). Heifers guaranteed open - to receive credit for a bred heifer we must receive documentation within 60 days of the sale.

**********3 WEIGHTS*********

PEN	COLOR	HD	AVG	RANGE	TOTAL WT	PRICE	BUYER
ТЗА	BLK/BWF	1	395		395	\$171.00	
M30A	BLK/BWF	3	365		1,095	\$164.00	
T30A	BLK/BWF	5	369		1,845	\$162.00	
S30A	BLK/BWF	1	375		375	\$130.00	
		10			3,710		

APPROXIMATELY 10 HEAD OF SORT OFFS / REJECTS TO SELL AFTER THE GRADED SALE